TOP BEAM

RAFTERS @ 1200mm crs (no ceiling lining)
1.8m WIDE - 90x45 MGP10

2.4m WIDE - 90x45 MGP10 (reduce to
900mm crs)

3.0m WIDE - 140x45 MGP10

3.6m WIDE - 140x45 MGP10 (reduce to

900mm crs) 3.0m WIDE - 190x45 MGP10 (allow 4.8m)
) ) 3.0m WIDE - 4 BATTENS (+ BEAM)
l;?InE.Oir)hangers required per rafter (over (3 x 75mm nails or 1 batten screws to rafter)
. Y

(If ceiling lined, space rafters @ 600mm crs)

140x45 (spanning 2 x posts)

ATTENS (70x45 untreated)
1.8m WIDE - 3 BATTENS (+ BEAM)
2.4m WIDE - 3 BATTENS (+ BEAM)

HIP RAFTERS:
1.8m WIDE - 140x45 MGP10 (allow 3.0m)
2.4m WIDE - 190x45 MGP10 (allow 3.6m)

(normally 5.4m) TOP WHALER
2 x 75mm BUGLE HEAD SCREWS (post to SAME SIZE AS RAFTER
beam) ONE (1) x 14g x 100mm
(TAKES PLACE OF OUTSIDE BATTEN %J%E%m\EISSCREW
ie: RAFTER SET DOWN ON BEAM 45mm).
=
POSTS 5]
88 x 88 LAMINATED PRIMED = DECKING (mitre on hip joist at corners)
USUALLY 2.4m - 2.6m crs =] § 90 x 22 DRY
(normally 2 x posts out of 6.0m ISEE (allow 90mm cover - 10%)
length, unless sloping site). E
g BOTTOM WHALER
SAME SIZE AS FLOOR JOIST
BOTTOM BEAM ONE (1) x 100mm x M10 BOLT
190x45 (details as per top beam) L s TO DROPPER (which are
GALV POST SUPPORT N\ _] @ 1200mm crs)
4 x ROOFING SCREWS or \ TOP OF DECKING TO|
SIMILAR PER POST SUPPORT \ LINE UP WITH UNDERSIDE
NGl OF JOIST
2xM12 CHEMSETS _—" | | P
(75mm EMBEDMENT) — — ANOTHER 190+45 MGP10 SUPPORT
JOISTS (@ 450mm crs) WITH SHORT POSTS REQUIRED FOR

1.8m WIDE - 120x45 or 140x45 MGP10
2.4m WIDE - 140x45 MGP10

3.0m WIDE - 90x45 MGP10 (cont span)
3.6m WIDE - 90x45 MGP10 (cont span)
NOTE: 1 x joist hanger required per joist
(joist to wall whaler)

SKILLION ROOF (verandah) DETAIL

UNDER CENTRE OF 3.0m / 3.6m WIDE
VERANDAHS

3.0m WIDE - 2.6m BEARER SPAN (max)
3.6m WIDE - 2.4m BEARER SPAN (max)

TYPICAL WIDTHS - 1.8/2.4/3.0 (5° PITCH MIN)

RAFTERS (140x45 MGP10 @ 1200mm crs)

* IF NO UNDER EAVE PROTECTION, USE APRON FLASHING
& OVERFLASHING WITH BITUMEN FOAM UNDER
(eg: GABLE ENDS).

* ENSURE TO CHECK SECURITY DOOR CLEARANCE WITH

RAFTERS PRIOR TO CONSTRUCTION.

ATTENS (70x45 untreated)
2 ROWS (step rafter down 10mm to
line up height to house batten.
(3 x 75mm nails or 1 batten screws to rafter)

HIP RAFTERS:

BATTENS (70x45 untreated

1.8m WIDE - 140x45 MGP10 (allow 3.0m)
2.4m WIDE - 190x45 MGP10 (allow 3.6m)
3.0m WIDE - 190x45 MGP10 (allow 4.8m)

DECKING (mitre on hip joist at corners)

1.8m WIDE - USE 2 x RUNS OF DECKING
AGAINST HOUSE

2.4m WIDE - 2 BATTENS

3.0m WIDE - 3 BATTENS

AFTERS @ 1200mm crs (no ceiling lining)
1.8m WIDE - 90x45 MGP10

2.4m WIDE - 90x45 MGP10 (reduce to
900mm crs)

3.0m WIDE - 140x45 MGP10

3.6m WIDE - 140x45 MGP10 (reduce to
900mm crs)

NOTE: allow 600mm for each rafter for radius
& allow one (1) joist hanger per rafter.

TOP BEAM

TOP WHALER .
140x4 2% post
SAME SIZE AS RAFTER I (noor?nfll(ysg?r:)ng o
ONE (1) x 49 x 100mm \ 2x 75mm BUGLE HEAD SCREWS (post fo
BUGLE HEAD SCREW ear)
@ 600mm crs 150mm NAIL PLATE -
X2/ RAFTER ———————POSTS
88 x 88 LAMINATED PRIMED

90 x 22 DRY
(allow 90mm cover - 10%)

USUALLY 2.4m - 2.6m crs
(normally 2 x posts out of 6.0m
length, unless sloping site).

1950
in. underside of beam)

JOISTS (@ 450mm crs)

1.8m WIDE - 120x45 or 140x45 MGP10
2.4m WIDE - 140x45 MGP10

3.0m WIDE - 90x45 MGP10 (cont span)
3.6m WIDE - 90x45 MGP10 (cont span)

NOTE: 1 x joist hanger required per joist

BOTTOM WHALER B

SAME SIZE AS FLOOR JOIST
ONE (1) x 100mm x M10 BOLT

TO DROPPER (which are /

@ 1200mm crs) A 7 -

OP OF DECKING TO (joist to wall whaler)
LINE [UP WITH UNDERSIDE \\BOTTOM BEAM
OF JOIST 190x45 (details as perlII(épream)
D N ALY POST SUPPORT

ANOTHER 190x45 MGP10 SUPPORT
WITH SHORT POSTS REQUIRED FOR
UNDER CENTRE OF 3.0m / 3.6m WIDE
VERANDAHS

3.0m WIDE - 2.6m BEARER SPAN (max)
3.6m WIDE - 2.4m BEARER SPAN (max)

BULLNOSE ROOF (verandah) DETAIL

2 xM12 CHEI\/ISETS
(75mm EMBEDMENT)

4 x ROOFING SCREWS or
SIMILAR PER POST SUPPORT

* IF NO UNDER EAVE PROTECTION, USE APRON FLASHING
& OVERFLASHING WITH BITUMEN FOAM UNDER
(eg: GABLE ENDS).

* ENSURE TO CHECK SECURITY DOOR CLEARANCE WITH

TYPICAL WIDTHS - 1.8/2.4/3.0

(5° PITCH MIN)

RAFTERS PRIOR TO CONSTRUCTION.

3.0m WIDE - FOR 3.0m CARPORT STAIRS:
TOP BEAM * STRINGERS TO BE TRENCHED OUT FOR TREADS AND
140x45 (ONE (1) BOLT PER BEAM) FIXED TOGETHER WITH 90mm BUGLE HEAD SCREWS —
2 75mm BUGLE HEAD SCREWS (per post) (3 PER TREAD / SIDE).
_ * WIDTHS OVER 1200mm MUST HAVE CENTRE STRINGER Omm METAL
INSTALLED. DRILLING SCREWS
POSTS L —
88x 88 g
(normally 2 x posts out of 6.0m % CLADDING /
length, unless sloping site). e 100 x 50 JOISTS =
N | PACKERS
= 120 x 19 PRE-PRIMED DAR
25-30mm SPACING ™ E—
L B 90x22 BRACE AS NECESSARY
fALQ/O%%?JGSgEE(E)\TVTS E— (must be braced each side of
X or | |
SIMILAR PER POST SUPPORT\ 2/ GALV RING SHANK " access door)
s - COIL NAILS PER DROPPER 0x22 T/PINE DECKING
2xM12 CHEMSETS _—" | | \ DROPPERS or 70x45 H3 PINE

(75mm EMBEDMENT) S

STANDARD 14° PITCH SKILLION CARPORT DETAILS

NOTE: for 5° pitch skillion & bullnose carports - use verandah details

DRAWING REVISIONS

REFERENCE DRAWINGS COPYRIGHT

THESE DESIGNS, PLANS

AND INFORMATION ARE
COPYRIGHT AND ARE

NOT TO BE USED OR
REPRODUCED WHOLLY

OR IN PART OR TO BE
USED ON ANY PROJECT

RPEQ

6715

SUB FLOOR SKIRTING DETAIL

NOTE: FINISH FACE OF 120x19 SHOULD BE NEAR FACE OF CLADDING

CLIENT

REVIEWED

WITHOUT THE WRITTEN

PERMISSION OF
SUMMERMORE PTY LTD

PRELIMINARY FOR CLIENTS APPROVAL GAB [OCT 2022

DO NOT SCALE FROM

REV

DESCRIPTION BY DATE DRAWING NAME TITLE THESE DRAWINGS.

PROJECT .
Proposed Verandah - Generic

DESIGNED RAB OCT 2022
DRAWN GAB OCT 2022
SCALE AS SHOWN

ORIGINAL DRAWING SIZE at A3

TITLE
Typical Verandah / Carport / Skirting
I I lanor with Details
;_-' J [ l R 1 f] Ji DRAWING NUMBER REV

22-28180-S02




	23-29437-Preliminary Design Certification for BA.pdf
	Binder1.pdf
	SGC22-567 - Site Classification - 34 Shingle Hut Road Narooma NSW 2546 Final
	SGC22-567 - Site Classification - 34 Shingle Hut Road Narooma NSW 2546
	Appendix A – Site & Borehole Location
	Site Locations
	Appendix B – Laboratory Results
	Narooma LS
	Appendix C - CSIRO Sheet BTF 18 'Foundation Maintenance & Footing Performance'
	Foundation Maintenance

	Baraclough - Narooma (Resilience) DA August 22 R.7
	22-28180-S01
	22-28180-S02 (Verandah Details)


	1151-Barraclough Truss.2.pdf
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Truss.2
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.1
	1151-Barraclough Panel.2
	1151-Barraclough Panel.3
	1151-Barraclough Layouts
	1151-Barraclough Layouts




